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(FimAE)
= 1 115, 215, 494
PCHG 1.
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7 VAN Ay MRE T
= 1 30, 554, 428
7 VERAMNY T M RLE 50N/mm2 L=29. 8m 34| GLHT
VN 1 7,679, 897 7,679, 897
7 VERAMN T v bR 50N/mm2 L=29. 8m 34y#E| G2AT
VN 1 7,597, 317 7,597, 317
7 VERAMN T v bR 50N/mm2 L=29. 8m 34y G347
VN 1 7,597, 317 7,597, 317
7 VERAMN T v bR 50N/mm2 L=29. 8m 343 4T
VN 1 7,679, 897 7,679, 897
7 VEAYAMYT Ry N EMTHILSL T
= 1 6, 055, 832
7 VEAYAMT Ry EMTRILST 2200kN (225t) ! (12512. 7B)
VN 4 1,513,958 6, 055, 832
AT
= 1 23,674, 312
2" LK KIS 1700kN [ &
(A1)
& 4 3, 500, 455 14, 001, 820
NS BRI 1700kN w] )
(A2)
& 4 2,414, 992 9, 659, 968
fliBRAS T 8RR SD295 D10
t 0.13 96, 342 12,524
DR T (BRERAMTAR )
= 1 10, 452, 732
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HiZRa% 7" VRV AN Y MET
= 1 10, 452, 732
TRAR - RE 1
= 1 3, 769, 530
R SD345 D13
t 0.55 326, 923 179, 807
ERAR SD345 D16~25
t 0.76 265, 722 201, 948
EVVER 30-12-25(20) (&il) HWOKBEAER
D2y =M R
m3 27 95, 517 2,578, 959
EVVER 30-12-25(20) (&il) HWOKBEAER
D2y =M R
m3 4 95, 517 382, 068
PCh=7" v Y) VARV R YAFA BTOKN (60t) (1S2
1.8)
m 84 3, 321 278, 964
EXR Yup WANG Y VAT BTOKN(60t) (1S2
1.8) FEEM (BaEA)
§=7" 7 21,112 147, 784
PCavE HERAR T
= 1 6, 030, 480
PCHR 37K v afv/h 747 15X 10
m 85 1,908 162, 180
PCH k% 50N/mm2
bie 87 66, 302 5, 768, 274
Wk E
m 233 429.3 100, 026
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-2 - ELAREE s &




NAWA

it

£

THEX Sy« T - R - A5 B B B B G = A & # R (GBS

R SD345 D16~25
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= 1 1,012,478
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= 1 22, 344, 264
PekZEE T

= 1 6, 365, 338
HEoK SUS304 654 X400

T 6 149, 927 899, 562
HEKE EREBATIVAE ¢ 202
(=9}

m 57 50, 217 2,862, 369
HEKE ERBATIVAE  $202
(FH5)

m 43 22, 966 987, 538
HEKE ATV $ 40
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m 8 37, 830 302, 640
IRIUK PR & & PR E380~480

T 19 38, 803 737, 257
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m 32 10, 992 351, 744
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VN 20 1,421 28, 420
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H7E - BEEAN
= 1 1, 825, 166
VAR 24-12-25(20) (@)
m3 18 28, 077 505, 386
P SD345 D13z Fvistflis s
t 0. 04 253, 702 10, 148
ERAR SD345 D13
t 1.98 165, 067 326, 832
ERAR SD345 D16~25
t 0.09 163, 232 14, 690
pibe — AT
= 1 968, 110
WA T
= 1 14, 153, 760
TRAL S AL
(ALFGH)
m 20 352, 431 7,048, 620
TRAL S TG A
(2B )
m 18 394, 730 7,105, 140
/) - MG RIS E T
= 1 4,488,012
YL L8 1T
= 1 3, 375, 852
iR
= 1 2, 369, 220
RIS S 35
= 1 486, 720
e - AR D 2y
= 1 519, 912
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Wb 1
= 1 1,112, 160
4Y=7" Vv B
= 1 1,112, 160
[fGan
= 1 1,215, 830
RIEE T
= 1 1,215, 830
RFE AR B
= 1 1,215, 830
290 =M
(MIKOFF7/ 7" #8)
= 1 42, 149, 382
PChn-277" 4% 1.
= 1 30, 840, 361
R AR T (EE)
= 1 8, 201, 450
SR TR H300
(P& [ i 1)
= 1 79, 812
SR FARM A 30kN/m2Lh b Of
(P& [ i 1)
= 1 7,956, 000
Fepay ) - 18-8-40 (i 47)
= 1 133, 228
av)) - M IS BUE L MEATHEEY) B L
= 1 15, 002
I )= (EFR HEEHm E D Zb L
= 1 12, 032
AL Gy vy -k (TR
= 1 5,376
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AT
= 1 8, 774, 761
2" LK TR S) 1450kN [ &
(A1)
& 2 2,621, 441 5, 242, 882
NS BRI 1550kN Af )
(A2)
& 2 1,763, 531 3,527, 062
HliBRAS T 8RR SD295 D10
t 0.05 96, 342 4,817
PCHr-277" H{E T
= 1 13, 864, 150
P i T A ¢ 650
= 1 715, 650
ERAR SD345 D13
t 3.98 287, 468 1,144, 122
ERAR SD345 D16~25
t 8. 64 285, 449 2, 466, 279
eV 36-12-25(20) (FL5R) —REF_AE 2V
71) = D T ) e
m3 69 60, 796 4,194, 924
PCr—7" v VFANT Y/ vATA 2257 (12512. 7B)
m 317 9, 955 3,155, 735
PCERIE SWPR7BL 12S12. 7B i@
§=7" 16 136, 715 2,187, 440
R B 1L
= 1 9, 452, 424
PekZEE T
= 1 575, 832
HEAK SUS304 654 X400
T 1 148, 092 148, 092
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HEKE EREATIVAE ¢ 202
(ETHEB)
m 9 34, 398 309, 582
RIS & & PR RRE240~350
T 2 36, 784 73, 568
FRAR A Bk 2 & I 7VvEY T W=7 625 &) xFV Mg
m 4 5, 041 20, 164
)Y = TR VbR E M12X 100 Ay%
VN 14 1,514 21,196
P = bR VR M8 X 60 A7/VA
VN 2 1,615 3,230
H7E - BEEAN
= 1 1,176, 452
VAR 24-12-25(20) (@)
m3 12 28, 077 336, 924
] SD345 D13z Fvistflis s
t 0. 04 253, 702 10, 148
ERAR SD345 D13
t 0.99 165, 067 163, 416
ERAR SD345 D16~25
t 0.09 163, 232 14, 690
Tl e — T
= 1 651, 274
5 2 I 5 3 At L
= 1 2,210, 260
T W EER) LA Mg 1.2m 7/-8 v REA
m 65 34, 004 2,210, 260
WA T
= 1 5, 489, 880
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AL TG4
(AIfEH)
m 6 441, 066 2, 646, 396
AL TG4
(A2fEH)
m 6 473,914 2,843, 484
/) - MG RIS E T
= 1 331, 321
g 1T
= 1 331, 321
RIS S 35
= 1 331, 321
% T
= 1 1, 525, 276
RIEE T
= 1 1, 525, 276
i e kg =
= 1 1,076, 878
i ek g =
(&)
= 1 448, 398
T
(m{hAE)
= 1 2,193, 674
=
= 1 2,193, 674
B A
= 1 2,193, 674
eV 24-12-25(20) (% JF)
m3 20 27, 985 559, 700
ERAR SD345 D13
t 1.72 165, 067 283,915
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R SD345 D16~25

t 0.19 163, 232 31,014
T P — T

= 1 1,144, 130
i

= 1 174,915

T
(MIKOFF7 /7" #8)
= 1 6, 777, 968
=
= 1 6, 777, 968
FSh=E 1SN

= 1 5, 682, 743

avp)=p 24-12-25(20) (R JF) —REEBAE 2V
71) = D T )

m3 67 27, 985 1, 874, 995
ERAR SR235 9

t 0.01 204, 797 2,047
ERAR SD345 D13

t 1.09 165, 067 179, 923
ERAR SD345 D16~25

t 2.22 190, 942 423, 891
ERAR SD345 D29~32

t 4.08 164, 149 669, 727
T P — T

= 1 1, 408, 160
SR F=<40kN/m2[t =120cm]

= 1 45, 500
i BRLRy NLE

= 1 1,078, 500
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B A
= 1 1, 095, 225
av)=p 24-12-25(20) (% ¥F)
m3 11 27, 985 307, 835
R SD345 D13
t 0.85 165, 067 140, 306
ERAR SD345 D16~25
t 0.19 163, 232 31,014
T P — T
= 1 616, 070
A A
(FimAE)
= 1 1,213,778
[ 92T
= 1 1,213,778
WAL
= 1 1,213,778
TR FEP ¢ 50 X 45%
m 118 1,691 199, 538
TR JEIMEMRE £54mm
m 32 6, 968 222,976
HiE AT G54 SUS304
& 16 38, 720 619, 520
SLFEERET FEP50-G54
HH 32 5, 367 171, 744
[EEE AR
= 1 167, 550, 296
BT S
= 1 19, 071, 960
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B STl
= 1 2,673, 499
T
= 1 1, 369, 496
T RR A oy AR ST A
= 1 1, 343, 293
AR T
= 1 26, 203
HTE
= 1 57,970
B B HE R FEART IR
= 1 57,970
BUGERRYCER (K5 1)
= 1 1, 246, 033
HimEpE (FE L)
= 1 16, 398, 461
g
= 1 186, 622, 256
B E
= 1 46, 356, 484
B 5]
= 1 232, 978, 740
— R B
= 1 35, 221, 260
T HAlik
= 1 268, 200, 000
THE B 2 %8
= 1 26, 820, 000
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